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Name: Date: #35 Finding equations of lines

Write the equation of each line.

a. Alvertical line Ithrough the pom@ -2). b. A horizontal lm% through the point (-4, g)
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5. Write the equation of each table. IFF you believe it is NOT possible, explain why.
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4. Write the equation of each line described in ANY FORM YOU WANT.
a. Through the points (6, -2) and (5, 1) b. Through the points (4, 1) and (-2, 4)
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Write an equation for each situation below.

5. Kaya buys a $20 phone card. She is charged $0.15 per minute for calls. Write an equation that gives the
value v left on her card after she makes f minutes of calls. .
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6. Use your equation from #5 to find how many minutes Kaya has talked if the value on her "nﬂ.?ﬂ
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7. A machine sales person earns a nmn(\le sai:rv and also a%:mus for every mauhmc\thu sell. One month the
sales person sold 6 machines and made $3500. The next month, he sold 10 machines and made $4500.

a) How much 1s the bonus the sales persgn earns for each machine?
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¢) Write the equation that models the situation. .
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d) What would the monthly income be if they sold 20 machines.
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8. The scatter plot below represents the aver age number of beach visitors depending on the

temperature. The line of best fit goes through the points (88, 375) and (82, 75). What
equation of the line of best fit?
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9. What does the y intercept of your equation represent - +.._+_.+.,. .
and explain whether or not it mak 0 |
p I not it makes sense in this situation? 80 84 88 92
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